
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

6321.2 × 0.1 = ________ 8802.6 × 0.01 = ________

4991.9 × 0.0001 = ________ 1168.3 × 0.1 = ________

4478.7 × 0.0001 = ________ 5624.5 × 0.001 = ________

4996.4 × 0.1 = ________ 8558.6 × 0.01 = ________

8517.6 × 0.01 = ________ 4785.4 × 0.01 = ________

2295 × 0.1 = ________ 6304.7 × 0.01 = ________

2050.9 × 0.01 = ________ 5294 × 0.01 = ________

1076.1 × 0.1 = ________ 5024.1 × 0.0001 = ________

1402.6 × 0.0001 = ________ 2943.3 × 0.01 = ________

6507.1 × 0.1 = ________ 5900.7 × 0.0001 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

6321.2 × 0.1 = 632.12 8802.6 × 0.01 = 88.026

4991.9 × 0.0001 = 0.49919 1168.3 × 0.1 = 116.83

4478.7 × 0.0001 = 0.44787 5624.5 × 0.001 = 5.6245

4996.4 × 0.1 = 499.64 8558.6 × 0.01 = 85.586

8517.6 × 0.01 = 85.176 4785.4 × 0.01 = 47.854

2295 × 0.1 = 229.5 6304.7 × 0.01 = 63.047

2050.9 × 0.01 = 20.509 5294 × 0.01 = 52.94

1076.1 × 0.1 = 107.61 5024.1 × 0.0001 = 0.50241

1402.6 × 0.0001 = 0.14026 2943.3 × 0.01 = 29.433

6507.1 × 0.1 = 650.71 5900.7 × 0.0001 = 0.59007
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